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Find lh& volume of the soligj,lvhit:h lies between planes perpendicular to the x-axis at

x =-1 and x =1 between the semi-circles y=—vV1-x* and y=+1-x" . The cross
sectiun. are squares with diagonals running from

y==Jl-x" to y=v1-x".
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The solid lies between plagés'p icE[ar to the x-axis at x = 0 and

x =4. the cross sections perpendicular to the x-axis between these planes
run from y= —v"_' and y=+x Jx . If the cross-sections are ¢quilaieral
triangles with one side runni running from y=- 1 and y=+x
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